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a ExPlain
b. Explain

b. Iixplairr

b. Write a

rvith necessary d iaglams.
Ne1 flow Architecture (FNr--)

(0tt Nlrrks)
(0t11\lrulis)

(08 PIarks)
model. (08 Ilrrtis)

(0ti N'la rlis)
(08 Marl<s)

(08 1\larlis)

in detail
the d nents

of

b. Exp Iain
(Utt Nlarlis)
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1 a. \Vith a neat ciiagrarrr, erplain

)

vember 2020

Max

modules.

15CS82

Marks: 80

Module-l
the components 0f HDFS
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b. Write ancl oxpiain the mapper

a. With a neat iliagranr. describe the steps o1'NIapReiiLrce pilrallcl clrta tlou'. (0tlNIarl<s)

b. Erplain the iirllou'ing rolcs in LTDFS ileplol'ment ii,'ith a ciragranr: (i) tligh availabrlity
(ii) Nanre Nocle Fecleration. (0{t N'Iarks)

]lotlulc-2
il. What is tlre slgniflcance olApuche pig in Hrdoop contexi? Describe the main colxpoltents

and the u,orking of Apache pig u,rth a simple example. (0tl N{arl<s)

b. Expiain the features zrnd the bc.nefits of Apaclie HIVE in I-lacloop. (08 Nlarl<s)

a. With neat diaqrams, cxplain thc oozie DAG ivorliflorv anc'l the types o1' nodes in the
r,r,orl<tlorv. (08 N'larks)

b' What is Apache Flurne? Descnbe the fleaturcs, components and the working of Apache
Irlulle. (08 N{arhs)

(Hadoop Distribr-rted Fiie System)

Ir4apRedLrce model.
(08 Marks)
(08 Mark$

m. Construct a

for the given
(10 NIarks)

5a.
b.

6a.

7a

a clata rvarehouse ancl cxplain the key elcments with a

a diagran-r.

(08 Marks)
(08 Marks)

lrpluirr tlrc stcps anti
decisiorr tree fbr the
cluestion.

Nlodule-4
three ditferentiating critcria of a decisiorl trce algorith
fo1lorving data set (table 1) and predrct the outcome

High
I o{'2

Outlooli Tetlp I lumiclitv Windy Play
Sunny 1-lot tligh False No
Sunny Hot High True No

Overcast I'{ot High F alse Yes

Rainv Mild Fligh False Yes
Normal False YesRarny Cool
Nonlal True NoRainy Cool

Overcast Cool Norrnal True Yes
Sunny Mild False No

GB,G,'S. $GHEilfl,E
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(06 NIarks)

Fal se Yes

8 a. Explain the design p rlodel representation for a single
and nTultilayer ANN Arti fi cial Nerrral Netrvork)

(10 i\'larl.:s)
b. For the dataset 2, find the affirrrtrcs of the Drodllctjlrocluct rvhich 5sli logether.

ConsiderS:3 50% ancl 3 itenr-set level on (06 IIarks)

b. Diffbrentiatc betu,een C4.5.
le I :I)ata Set

CHAID decision

Ne.fr,.:o'l*-

Fig. Ql0 (b)
**,F**

rinciples of ANN by constructing a

Desclibc lhc ste|s to build rrr ANN- (

'1*!F- i

9

10

(Ofl Nl a rl<s)

flon,diagrams to reprcscnt the sarne.
(08 Marks)

(0tl Ilarlis)
l0 (b), when is the highest rankecl nodelT

(0tl Nlarlis)

Rainy N{i1d Nonnal Fal se Yes
Sunny N4itd Nonnai Tr-ue Yes

Overcast I\4ild High True Ycs
Overcast Hot Normal Fal se Yes

Rainv Miid High TrLre No
Oullooli Ten:rp Huniiclity \Vincl-v Pldy
Sunny' IIot Nomal True ?

"lransactions l-ist
1 ]vIi1k llo,r Bre acl BLrtter
2 N4i1k Br"Ltter Egg KctchLr;r

.) Breacl Butter Ketchup
4 Milk Bread Butter
s Ilreacl Butter Cookies

Mill( Bread Butter Coohies6

x- CookicsMiLK

8 ivlilk Bread Butter
t) Breacl Bntter Egg Cookies
l0 Milk Butter Bread
11 Milk Bread Br"rtter

l2 Milk Bread Cookies Ketchrrp

{ {*;q
&
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a. Compare text
b. . 'E*plain the 3
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Marks: B0

when it is not.
(08 Marks)

sinrulation tablc for 8

dle time of server and

in minutes. (08 Marks)
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C.

oth thc lo
scale

sca le.
(07 Marks)

Binomial distribution (06 Marks)

proOess (06 Marks)

eibull-distributed with locatiott pararretcr 0, C{,

2

veuls rrntl [] 1. What fr-actron oi'batterics are expccted to last longer than the mean life?
4

(0,1 NIarks)

ai. Explain the char:acteristics of Queuing Systeru. [-ist ditferent clueuing notations. (t0 Nlarks)

b. Whatisnelr,rrorkof qucue'/Mentionthcgeneral nssut-t.tptiotr lbrastablesystemwithinfinite
calling popr-rlation. (06 NIarks)

I of 2

lnte r arrivai tinre (lAT) 3.2. 6.4. ,+. 5, 8

Service time (ST) : 3, -5, 5, 8,4.6,),:

tal
[.oading time l0 5 10 l5 10 toti

l6Weigliing tirrc t2 12

5

t2 lo t2
100 40 40 80Travel time 60

4

sen,ice time. The intcr arrival tinrc ancl set'r''ice tit-nc are

Deflne : (i) Systern (ii) Event (iii) FEL (Future Evenl List) (03 Nlarks)

Explain diflerent types of rl,orld views. (06 N{arks)

Si.r dump trucks are usecl to haul coal fi-onr the entriince of a small mine to the rail road.

Eac:h tllch is loadccl by one oltwo loaclers. After loading, tluck immcdiately movcs to the

scalc to be rveighecl. Loader anci scale havc F'irst-Cotne-First-Serve (FCFS) queue. The

trarrel tin-ie fl'orl loadcr-to scale is negligible. Alier bcing weighcd, a truck begins a travel
tinte, allclrvarcls Ltnload the coal ancl rctunrs to the loadcr qlreue. It is assutnccl that Five

ttuclis are at thc loader and olrc is at thc scale at tir-ne:0. Carryout sit-nulation process till
thc completiorr of tlr,o rveighing fl'om ther scalc. The activities of loading, weighing and

travel tinrc arc in the fir



5a.

b

6a.

b

7a.

8

9

10

2 of 2

1scs834

N{odulc-3
What a;'e the problents thart occrrr urhile generating pseitclo-r.lnclonr nutltbcrs'l Also list thc

impoilant considerations cluring generation olrandom ttttntbers. (0tt NIarks)

Clonsidcr the scquence of rattdotr t'ttturbet's 0.12, 0.01. 0.23, 0.28. 0.89. 0'31" 0.64. 0.28,

0.83, 0.93, 0.99, 0.15. 0.33, 0.35, 0.91. 0.41, 0 60, 0.27. 0.7,5. 0.sE. 0.6E. 0.49 0.0s.0.43.

0.95,0.58,0.19.0.36,0.69.0.87. Test whether 3"r, 8'h. l3'r'and so on nuntbers ur thc abovc

sequencc are auto-col-rccted. At significance lcvel u:0.05. Norntal critical tabic valuc is

given as 1 .96 (08 Nlarl<s)

(08 Marks)
(08 Marks)


